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Tabnuuya 13
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“ QyHKUMA ONs NPpUONMXEHHOro BblYUCIEHUS sin
Function sinus(z As Double) As Double

Dim sum As Double, p As Double, m As Double, n As Long
Dim i As Integer, j As Integer
i=l:p=zzm=z:sum=0

Do While Abs(m) > 0.1

sum=sum+m

i=i+1

p=-p*z”"2

n=1

Forj=1To2 *i-1

n=n%*j

Next

m=p/n

Loop

sinus =sum

End Function



‘basoBas PyHKUMA

Function fab(p As Integer, g As Integer) As Double
fab=(pr2+q”*2)*(1/3)

End Function

‘MoouTterpanbHas PyHKUNS

Function f(x As Double)

f=1/Sqr(1+x"2)

End Function

‘OYyHKUMA ONF BbIMUCNEHNA onpeaeneHHoro HTerpana
Function integral(x As Double, y As Double, n As Integer) As Double
Dim i As Double

Fori=xToyStep(y-x)/(n-1)

Ifi=xOri=yThen

integral = integral + 0.5 * {(i)

Else: integral = integral + f(i)

End If

integral = integral * (y-x) /(n-1)

Next

End Function



‘naBHaga pyHKUMSA

Sub main()

Const pil =3.14

Dim a#, b#, c#, d#, n%, x1%, x2%, y1%, y2%

Dim functional#

x1 = CInt(InputBox(«BBegu x1", “Bsog", 1))

x2 = CInt(InputBox(" BBean x2", " Beoa ", 1))

y1 = CInt(InputBox(" Beean y1", " Beoa ", 2))

y2 = CInt(InputBox(" Beeaun y2", " Beoa ", 2))

n = CInt(InputBox(" BBegu n", " BBoa ", 51))

a = fab(x1, y1) / (fab(x2, y2) + fab(x1, y1))

b =10/ (fab(x1, x2) + fab(y1, y2))

c =3/ sinus(pi/ 6)

d =8 * sinus(pi/ 2)

functional = (integral(a, b, n) - integral(a, d, n)) / (integral(b, c, n) + integral(b, d, n))
MsgBox "a=" & a: MsgBox "b=" & b: MsgBox "c=" & c: MsgBox "d=" & d
MsgBox "functional=" & functional

End Sub



